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A  = 2p + 300R

5.2 Recap



What do the parts of the equation tell us about the attendance at Big Fun?

A  = –7.5p + 1000F



2.5 Recap - We have lots of questions to answer.



Our equations can be used to answer 
each of these questions! That's why we 

make them!

A  = 2p + 300R

A  = 2p + 300R

A  = –7.5p + 1000F

A  = –7.5p + 1000F



A  = 2p + 300RA  = –7.5p + 1000F



What makes you think there is no time when the 
attendances will be equal at the two places?

Between here we switch from greater 
attendance at Big Fun to greater 
attendance at Get Reel!



A  = 2p + 300RA  = –7.5p + 1000F



Pages 1 and 2 - left hand column

Page 3 top half

Classwork



Classwork
Complete left column on pages 1 and 2, 
and top half of page 3.







Homework

Finish Review Packet


